
2007 Tie Breaker One 
 

1 

1. Q. The costal cartilages of the first eight ribs articulate with what bony 
 structure? 

 
 A. The sternum 
 
 S. Kainer plate 8     410/3 
 
 
2. Q. Which type of harness racing is most frequently seen in the 

 United States today? 
 

A. Pacing 
 
 S. Evans 29      200/2 
 
3. Q. What term would be used to describe a horse that is cantering on one 

 lead in front and a different lead in the rear? 
 
 A. Disunited (also accept cross firing or cross canter) 
 
 S. DET 82      640/3 
 
4. Q. What hormone released by the uterus if the mare is not pregnant 

 is responsible for the regression of the corpus luteum and the return of 
 the mare cycling? 

 
 A. Prostaglandin (prostaglandin F2 alpha, PGF2 alpha) 
 
 S. HIH 910-6. Kainer plate 71   510/4 
 
5. Q. What is the name of the small ring snaffle used on a full, or   
  Weymouth bridle? 
  
 A. Bradoon (Bridoon also accepted spelling) 
  
 S. HIH 1100-10, DET 39    1000/3 


